HPE_CIE10-cone sensitivityynax(A)=1
110,1M)=B11X10,1A)+B12Y 10,1(A)+B13Z10,10)

Byj 0,3897 0,6889 -0,0786A{570)
2, E00: 3T 10,4(\)=23,35
%10,:=0,3332 y10 1=0,3332

iN it ly” | e

EOO

0o 400 500 600 700

wavelengthA /nm

HPE_CIE10-cone sensitivityymax(A)=1
M10,1(A)=B21X10,1(A)+B22Y 10,1(A)+B23Z10 1(A)

By -0,2298 1,1834 0,0464 A(545)
2,0 E00: £ 1 4(A)=23,35
%10,70,3332 Y39 70,3332

10~~~ ~~-~-~7

EO0

0,0

400 500 600 700
wavelengthA /nm

CEM30-1A_EO0

CEM30-2A_E00

HPE_CIE10-cone sensitivityynax(A)=1

$10,1M)=B31X10,1(A)+B3zy 10,1(A)+B3aZ10,1N)

B3 0,000 0,000 1,000 X-445)
E00: 5§19,1(A)=23,35

X10,7=0,3332 yj0,170,3332

2,01

JNo iy T

EOO

0o 400 500 600 700

wavelengthA /nm

T10,4N)=B11X10,dN)+B1y10 d\)*+B15Z10 M)

HPE_CIE10-cone sensitivityYg,,=100

By 0,3897 0,6889 -0,0786\{570)
10 A1m2-515 575, 626 E00: =T 19 {A)=99,99

T10dM m2=2,14, 4,29, 2,14
7,9
SN e
2,5

EO00

00 400 500 600 700

wavelengthA /nm

CEM30-3A_EO0

CEM30-4A_E00

HPE_CIE10-cone sensitivityYg;,=100
M10,dN)=B21X10 dA)+B22y 10 dA)+B2sz10 {A)

By -0,2298 1,1834 0,0464 A¢545)
10TA y, 55498, 545, 599 EQ0: £ 10 A)=100,00
M104M m2=2,26, 4,53, 2,26

7.9
50p - - - - -~ -~ - - -~ - - “-“—-“-“" - -----
2,5

E00
0.0 400 500 600 700

wavelengthA /nm

HPE_CIE10-cone sensitivityYg,,=100
$10,4N=B31X10,4N)+B32 10 {\)+B3az10 M)

Bgj 0,000 0,000 1,000 A-445)
10[y;m 55420, 445, 475 EQ0: £510 dA)=100,01
§1O,S(A1.m,2)=4v34r 8,68, 4,34

7.9
X iy’ D
2,5
EO0
0,0
400 500 600 700

wavelengthA /nm

CEM30-5A_E00

CEM30-6A_E00

HPE_CIE10-cone sensitivityl a4(A)=1
T10,iN)=[B11X10,iMN)+B12Y10,n(A)+B13Z10,n(A)1/4,29
Byj 0,3897 0,6889 -0,0786M{570)
200\ m =515, 575, 626 E00: 3T 10 {1)=99,99
T10dMm9=2,14, 4,29, 2,14

iN St ly” 1 e

0,0
400 500 600 700

wavelengthA /nm

HPE_CIE10-cone sensitivitymyax(A)=1
M10,/(A)=[B21X10,/N)+B22Y 10 nA)+B23Z10,(N)1/4,5
By —0,2298 1,1834 10,0464 A{545)
2.0\ 1 m, 7498, 545, 599 E00: M 143 {A)=100,00
mM10 dA1,.m 2=2,26, 4,53, 2,26

400 500 600
wavelengthA /nm

CEM30-7A_EO0

CEM30-8A_E00

CIE10 spectral tristimulus valuesymay(A)=1
X10,1M=A11l 10,10)+A19M10,1(A)+A13510,1N)

2,0}

1,0

Ayj 19101 -1,1121 0,2019 A¢570)
E00: 3% 19 1(A)=23,35
¥10,£0,3332 Yy 1=0,3332

EO0

0,0

400 500 600 700
wavelengthA /nm

CIE10 spectral tristimulus valuesyyay(A)=1
¥Y10,10)=A21! 10,10 +A20M 10 1(A)+A23510,1)

Ay 03709 0,6290 -0,000 A(-545)
2,0 E00: ¥ 10 1(\)=23,35
X10,770,3332 y10,170,3332

1y ~=~"~"~"~"~"~"~"Z@"~ """~~~ =-~----

E00

0,0

400 500 600 700
wavelengthA/nm

CEM31-1A_E00

CEM31-2A_E00

CIE10 spectral tristimulus valuesymay(A)=1

19,

2,0}

1,0

1(A)=A3z1l 10,10 +A3M 10 1(A)+A33510,10)
Ag 0,000 0,000 1,000 A-445)
E00: 57 19 4(0)=23,35
X10,70,3332 y10 10,3332

EO0

0,0

400 500 600 700
wavelengthA /nm

CIE10 spectral tristimulus valuesYg,y=100
X10,4N)=A11l 10, dN)+A10M10 {A)+A15510 {A)

Ay 19101 -1,1121 0,2019 A¢570)
10 E00: 5K 19 {1)=99,99

X1050,3332 vy 50,3333
7,5
N6, g U
2,5

E00

0.0 400 500 600 700

wavelengthA/nm

CEM31-3A_E00

CEM31-4A_E00

CIE10 spectral tristimulus valuesYg;=100
Y10, N)=A21l 10 dN)+A20M 10, dA)+A23510,4N)

10

7.9

5,0}

2,5

A 0,3709 0,6290 —0,000 A¢545)
EQ0: 57 10,41)=99,99
¥10,50,3332 vy 50,3333

EO00

0,0

400 500 600 700
wavelengthA /nm

CIE10 spectral tristimulus valuesYg,,7=100

Z104N)=Aa1l 104N +AgaM 104N +A35S10 M)

Az 0,000 0000 1,000 A-445)
10 E00: £7 10 ¢A)=100,01
%1050,3332 vy 50,3333

7.9
X0 iy’ D
2,9
E00
0,0
400 500 600 700

wavelengthA/nm

CEM31-5A_E00

CEM31-6A_E00

CIE10 spectral tristimulus valuesymax(A)=1
¥10,10M)=A21! 10,10)+A20M 10 1(A)+A23510,1(A)

2,0}

1,0

Ay 0,3709 0,6290 -0,000 A¢545)
E00: 57 19 1(\)=23,35
Yo=Y10,4N) X10,170,3332 y10,1=0,3332
Y1=A21l 10,40
Yo=A2M10,1(A)

0,0

500 MVL 600

wavelengthA /nm

CIE10 spectral tristimulus valuesyyay(A)=1
Y10,10)=A211 10,10)+A22M 10, 1(A)+A23510,1(A)
Apj 0,3709 0,6290 -0,000 A¢-545)
2,9 E00: 37 19 1(\)=23,35
Yo=Y10,1N) X10,70,3332 y;,1=0,3332
Y1721 10,40)  aF10,1(Aa)/M10,1Aa)
o) Y2=AzoM1g, 10\) . .*—Y1o 1A 10, 10\a)

’

CEM31-7A_E00

CEM31-8A_E00

CEM30-7R




